

Muab cov sabsaum xam ua zauv npaug ua ke thiab muab cov hauvqab xam
ua zauv npaug ua ke.

$$\frac{1}{2} \times \frac{2}{4} =$$

$$\frac{1}{2} \times \frac{2}{5} =$$

$$\frac{1}{2} \times \frac{2}{6} =$$

$$\frac{2}{4} \times \frac{2}{4} =$$

$$\frac{2}{4} \times \frac{2}{5} =$$

$$\frac{2}{4} \times \frac{2}{6} =$$

$$\frac{1}{3} \times \frac{2}{4} =$$

$$\frac{1}{3} \times \frac{2}{5} =$$

$$\frac{1}{3} \times \frac{2}{6} =$$

$$\frac{2}{3} \times \frac{2}{4} =$$

$$\frac{2}{3} \times \frac{2}{5} =$$

$$\frac{2}{3} \times \frac{2}{6} =$$